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1. Determine table entries for look up of P(Z < 2.83).

z-table use

a. row=2.83 column 0.00 b. row 2.83 column 0.00

C. row 28 column 0.03 d. row=2.8 column 0.03

2. Determine P(Z < 2.83).

a. 09816 b. 0.9711 c. 0.9989 d. 0.9923 (e. 0.9977

3. Closest table entry found when looking up of z satisfying P(Z < z) = 0.846.

a. 0.8409 b. 0.8452 ¢. 0.8459 (d. 0.8461) e. 0.8643

4. Value z satisfying P(Z < z) = 0.86 (use closest table entry). P’U "WLJ from é-‘wia(z, u{@alﬂ 941‘

So e cloast answe, o
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\7 *, The z satistying P(Z > 2) = 0.13 also satisfies P(Z< )= 7 -3 i E 01y symmatric. propesty

a. 0.18 b. 0.88 ¢. 0.09 (d. 0.13) d. 0.22 B ' -2 ¥ 2

5. Determine z satisfying P(Z > z) = 0.13 (use closest table entry). P(Z<)= -oll=0.8]

a. 077 b. 092 c. 0.84 6. 1.01 thse T4abls o get 2 as (.13
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6. The z satisfying P(| Z | > z } = 0.30 also satisfies P(Z>z)=7 - 0.5 % e 2 ‘
o :P ?3 o 24—3) P(Z)E): 0.%0 :
a. 030 b. 0.90 d. 0.20 e. 0.10 7 >
‘ o ) --'2, 4 i ) . = o, ‘S- .

~Cl for p in Bernoulli trials

7. What fractio.h of 97% Cl for p cover their intended target p?

a. around 0.85 { b. around 0.9 C. exaclly 0.97 d. exacily0.985 e. ~1
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8. A With-replacement sample of 30 hospital admittees from a population of 260 admittees finds
\Y_~ 14 lack insurance for the recommended treatment. The Cl for the corresponding poputation

fraction p is: Canikion -
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9. The 99% Cl for p (not 97% Cl as in#7) is from#8 § = -’Y-‘\- = oo 2046666 |
| ST 0 Cobob] 1 76x | b o 3
a. [0.498433, 0.534900]  b. [0.102523, 0.83081] CC. [0.288142, 0.645101]

d. [0.357366, 0.575967] . e. [0.202523, 0.73081] - = o.(bbb6 ]+ 0, (18525
, =T 0.288142, 0.645{ 2]

' T [ 2 .
10. The Agresti-Coull estimate of p (different from p) is P equal to P= e = 'é% = 0. \L]o (v'd'2

a. 0.340009 b. 0.220395 «c. 0.199.699 d. 0.470588) e. 0.254910

——

) : o TelTe . 294
11.. The Agresti-Coull 95% Cl for p is AP’ % Z-J% = v([oS88 £ (36 ¥ J" 4 m&:o 52

! ¢
. : . = . 2 ‘i. ]
a. [0.200847, 0.480972] (b. [0.302811, 0.638366]) c. [0.288142, 0.645191] QE:‘;‘ ziff 01;33225%
e. 1020 —U73087] 9o 10, O -
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12. A without-replacement sample of 36 hospital admittees from a population of 260 admittees
finds 14 lack insurance for the recommended treatment. The form of a 95% CI for the
corregponding population fraction p is:

X=1Y (aution .
a. pxzpg/n (b. f‘)iz\/ﬁé‘]/n %—Z—?— »0-5121/!7!5@ C . & ore Hae
' - - ' Same .
L — R — | N-n
d. pxznpd e.ptZ\/npq N=T

13. The above 95% Ci for p is

L a '[0.298433, 0.634900] -b. [0.302811, 0.638366] (c. [0.29702, 0.636313]
d. [0.357366, 0.575967] e. [0.202523, 0.73081] '
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14. Fora82%Clwhatzwouldbeused'? & = o‘”

a. 1.45 b165d1-25 e1.75 Muzta&h-toﬂdzuo!%%

tests of hypotheses

15. It is desired to test the nu!l hypothesis p = 0.2 versus the a!ternatlve p > 0.2. where p is the
- fraction of snow blower sales having a service coniract in the deal. The rate 0.2 applied just prior -
to a new advertising "rollout" promoting the service contract. Give the form of the z-test statistic.
Note the following:
This is not a Cl.
The test is not being set up in terms of X.

P— Do P Po )
A/ NPo Go \/ﬁf]/n \/nﬁ&
16. A sample 01!‘ 1 OO snow blower sales fmdg< 25 had the contract as part of the deal. Determme
the P-value for this data empon:ng your choice in #15. P"V“'&‘-'? F( 2> _P_E_) M2 > - )
J {eo

a. 0.04010 b. 0.02213 «¢. 0.03181 (d. 0.1056) e. 0.09327
' =P %7‘.75):0.{0%

tests with pre-assigned probabilities of type 1 and type 2 error

17. It is desired to test
Hy:p=02 type one error probability 0.04
Hip=04  type two error probability 0.01
1"3?2 Lom probabily D520z 00§ DP(RcH)= 06
kF

bt ine Zo.
Siermine £0 Use 2-table 4 gt 25 a5 7€

a. 259 (b. 175 Jc. 233 d&2.67 e. 2.81

18. You are given that Zy= =2.33. Using the information in #17 determ:ne the sample size n
tequired to achieve the goals set out above.

a.231 b. 81 c.‘ESS@e.?B L - . c
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